Based on 100 Guests for a (6) Hour Event up to Midnight

100	Mexican Fiesta Buffet @ \$27.00 per Person		\$ 2,700.00	
	FREE SODAS FOR THE FIRST HOUR ONLY!!			
1	8 × 10 × 12 Cake	\$	240.00	
1	Bartender Fee for Cash Bar	\$	75.00	
1	Dance Floor	\$	200.00	
100	Chair Covers and Sashes @ \$3.00 Each	\$	300.00	
6	Hours for Security Guard	\$	210.00	
	Subtotal	\$ 3	3,725.00	
	Tax	\$	284.72	
	Gratuity	\$	632.70	
	Grand Total	\$ 4	1,642.42	

- 1. Require a Security Guard for Duration of the Event
- 2. Event Must end by 12 AM (Midnight)
- 3. Provide a Guest List to the Catering Office
- 4. Provide own person to check in Guests as they arrive

<sup>\*\*</sup>Optional - ADD (5) hours of Unlimited Sodas @ \$400.00++

Based on 150 Guests for a (6) Hour Event up to Midnight

150	Mexican Fiesta Buffet @ \$27.00 per Person	\$	4,050.00
	FREE SODAS FOR THE FIRST HOUR ONLY!!		
1	6 × 8 × 12 × 14 Cake	\$	375.00
1	Bartender Fee for Cash Bar	\$	75.00
1	Dance Floor	\$	200.00
150	Chair Covers and Sashes @ \$3.00 Each	\$	450.00
6	Hours for Security Guard	\$	210.00
	Subtotal	\$	5,360.00
	Tax	\$	417.15
	Gratuity	\$	927.00
	Grand Total	\$	6,704.15

- 1. Require a Security Guard for Duration of the Event
- 2. Event Must end by 12 AM (Midnight)
- 3. Provide a Guest List to the Catering Office
- 4. Provide own person to check in Guests as they arrive

Based on 200 Guests for a (6) Hour Event up to Midnight

200	Mexican Fiesta Buffet @ \$27.00 per Person	\$ 5	5,400.00
	FREE SODAS FOR THE FIRST HOUR ONLY!!		
1	6 × 8 × 12 × 14 × 16 Cake	\$	575.00
2	Bartender Fee for Cash Bar	\$	150.00
1	Dance Floor	\$	200.00
200	Chair Covers and Sashes @ \$3.00 Each	\$	600.00
6	Hours for Security Guard	\$	210.00
	Subtotal	\$	7,135.00
	Tax	\$	560.93
	Gratuity	\$	1,246.50
	Grand Total	\$ 8	3,942.43

- 1. Require a Security Guard for Duration of the Event
- 2. Event Must end by 12 AM (Midnight)
- 3. Provide a Guest List to the Catering Office
- 4. Provide own person to check in Guests as they arrive

Based on 250 Guests for a (6) Hour Event up to Midnight

250	Mexican Fiesta Buffet @ \$27.00 per Person		6,750.00
1	6 × 8 × 12 × 14 × 16 Cake	\$	575.00
2	Bartender Fee for Cash Bar	\$	150.00
1	Dance Floor	\$	200.00
250	Chair Covers and Sashes @ \$3.00 Each	\$	750.00
6	Hours for Security Guard	\$	210.00
	Subtotal	\$	8,635.00
	Tax	\$	682.43
	Gratuity	\$	1,516.50
	Grand Total	\$	10,833.93

- 1. Require a Security Guard for Duration of the Event
- 2. Event Must end by 12 AM (Midnight)
- 3. Provide a Guest List to the Catering Office
- 4. Provide own person to check in Guests as they arrive

Based on 300 Guests for a (6) Hour Event up to Midnight

300	Mexican Fiesta Buffet @ \$27.00 per Person		8,100.00
	FREE SODAS FOR THE FIRST HOUR ONLY!!		
1	8 × 10 × 12 × 16 × 18 Cake	\$	680.00
3	Bartender Fee for Cash Bar	\$	225.00
1	Dance Floor	\$	200.00
300	Chair Covers and Sashes @ \$3.00 Each	\$	900.00
6	Hours for Security Guard	\$	210.00
	Subtotal	\$	10,315.00
	Tax	\$	818.51
	Gratuity	\$	1,818.90
	Grand Total	\$	12,952.41

- 1. Require a Security Guard for Duration of the Event
- 2. Event Must end by 12 AM (Midnight)
- 3. Provide a Guest List to the Catering Office
- 4. Provide own person to check in Guests as they arrive

# Quinceañera Information

We can do Quinceaneras from 50 up to 600 Guests

Additional Hours after first free (6) Hours are \$150.00++ per hour up to Midnight Hours After Midnight must be approved by Catering Office

SAM'S TOWN LIVE REQUIREMENTS

Minimum 200 guests Required

Additional fees will apply for use of Sam's Town Live Depending on your Entertainment and length of your event will determine the additional cost

Catering Office can provide you with the additional costs.

### **Mexican Fiesta Buffet**

Price Effective 3/15/12

Mixed Green Salad with Assorted Dressings
Cold Bar – shredded lettuce, diced tomatoes
shredded Monterrey jack & cheddar cheeses,
diced onions, sliced black olives, guacamole, sour cream,
assorted salsas,
Tabasco, sliced jalapenos, & Pico de Gallo
Southwestern Salad
Tri-Colored Tortilla Chips with Salsa
Sliced Fresh Fruit

**CHOICE OF 4 Entrees:** 

Chicken Fajitas

Beef Fajitas\*

Beef Tamales

Cheese Enchiladas

Chile Relleno

Shredded Beef Tacos

Carnitas (shredded pork)

Served With: Spanish Rice Refried Beans Flour & Corn Tortillas

Chef's Selection of Desserts to include Kahlua Flan & Churros Regular & Decaf Coffee, Hot & Iced Tea, & Milk

Priced @ \$27.00++ Per Person

Other Items available Upon Request at an additional charge

++ Indicates 18% Gratuity & 8.10% Sales Tax will be Added
Prices Subject to Change
\$3.00 per person Surcharge for groups of 40-49 Guests

\*THOROUGHLY COOKING FOOD OF ANIMAL ORIGIN, INCLUDING BUT NOT LIMITED TO BEEF, EGGS, FISH LAMB, MILK, POULTRY, OR SHELLSTOCK REDUCES THE RISK OF FOOD BORNE ILLNESS.
YOUNG CHILDREN, THE ELDERLY, AND INDIVIDUALS WITH CERTAIN HEALTH CONDITIONS MAY BE AT A HIGHER RISK IF THESE FOODS ARE CONSUMED RAW OR UNDERCOOKED.

## **Banquet Bar Pricing**

**Prices Effective 2/15/13** 

#### **CASH or HOSTED BAR by the DRINK**

1 \$250.00 Minimum Cash Bar Sales. Plus \$100.00 ++ Bartender's Fee - On Cash Bar Only.

Fountain Soda \$2.75 Bottled Water \$2.50
Domestic Beer \$4.00 Imported Beer \$5.00
Call Brands \$5.75 Premium Brands \$6.75
Wine by the Glass \$4.50 Super Premiums \$8.50

#### **HOSTED** by the HOUR

Guaranteed \$250.00 Minimum

CALL BRANDS		PREMIUM B	RANDS	SUPER PREMIUMS		
Per Person ++		Per Person ++		Per Person++		
One Hour	<b>\$16.00</b>	One Hour	<b>\$18.00</b>	One Hour	\$20.00	
Two Hours	\$20.00	Two Hours	\$22.00	Two Hours	\$24.00	
<b>Three Hours</b>	\$24.00	<b>Three Hours</b>	\$26.00	<b>Three Hours</b>	\$28.00	
Four Hours	<b>\$27.00</b>	<b>Four Hours</b>	\$29.00	Four Hours	\$32.00	

**HOUSE CHAMPAGNE** @ \$22.00++ per bottle and up

**SPARKLING CIDER** @ \$12.00++ per bottle

**KEG OF DOMESTIC BEER @ \$375.00++ Each** 

**KEG OF IMPORTED BEER @ \$475.00++ Each** 

#### HOSTED DOMESTIC BEER, WINE, & SODA ONLY

- (1) **Hour** \$10.00++ per person
- (2) Hours \$14.00++ per person
- (3) **Hours** \$18.00++ per person
- (4) Hours \$20.00++ per person

++ Indicates 18% gratuity & 8.10% Sales tax Will be Added PRICES SUBJECT TO CHANGE